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i
^ I '>]V||'8r\oc^<q R*f?T^ —Answer all the questions in OMR sheet.

(A)

(B)

Choose the correct answer.

Each question carries 1.25 marks.

1. Sociology is a Science. (C)

(D)(A) Biological

(B) Atomic

(C) Social

(D) Natural

5 I 7rsrp5?^5 '£^6

(A) C^R<P

(B)

(C)

(D) 2f]<fR<T>

3. Which one first and foremost Institution in the world ?

(A) Lions Club

(B) Rotary Club

(C) Formal institution

(D) Society

'0 I C^fSC<I> 3l§Vl'©>l 'Q ^?i ?

R^Ff I

(A) |PR

(B) C^fefSt IPR

(C) $R&Ft

;

2. The subject matter of Sociology is —

(A) Static (D) •»
(B) Dynamic 4. The essential feature of community is —
(C) Deductive

(D) Inductive
(A) Locality

i:(B) Power

(C) Group of people

(D) We-feeling
;
1
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81 'SFPperasra wfepf ^ —

(A) WOT

(B) ^>|vsl

(C) WTPITft

(A) «

(B) '£FW5

(C) *tf# 'Q

(D) ^

7. The tenn Folkways was coined by —

(A) Rousseau

(B) Sumner

(C) Comte

(D) Srinivas

I *N!> WH —

(D) <7flq ;,
■

5. Association is organization.

(A) Non-voluntary

(B) Temporary
:
i(C) Spontaneous

(D) Transmission of ideas

<t I :
■;

(A)

(B)

(A) Wit

(B)

(C) C$K

(D)

(C)
!

(D) vTCtt ^iFtR-^rR

8. Is culture measurable ?6. Who classified in-group and out-group ? 

(A) Sumner

\
\

(A) Not measurable

(B) Measurable

(C) Easy

(D) Complex

(B) Elwood
|

(C) Parks and Burgess
:

(D) C. H. Cooley

Turn Over
: ( 6 )( 5 ) 2/115 -215002/115 -21500 :
* .

UGB_UG_Question_Sociology_General_Part-I_Examination_2018

Digitized by the Librarian, Central Library, Malda College, Malda on 5th October, 2018, Page -3 of 15.



bo i ^Pn>i —

(A) c*f*mtfr®t

(B) "<i^l^

(C) *WsrMrsi
(D)

11. Cooperation is a —

(A) Single process

(B) Joint process

(C) Conflictual process

(D) None of the above 

bb I

(A)

(B) ctW sfen

(C) stf^n

(D)

12. In which society competition is more important ?

(A) open

(B) closed

(C) Ancient

(D) None of the above

■vi 1% ?

(A) ^

(B)

(C)

(D) 'SffD'd

word.9. The word “Civitias” comes from

(A) Greek

(B) German

(C) Latin

(D) France

& I “Civitias” —

(A) Isfa

(B)

(C)

P)
10. The primary role in the process of socialization is performed by —

(A) Occupational .group

(B) Friends

(C) Mass Media

(D) Father - Mother
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581 ft Prefer %% *bj?
5^1 c^h 8ft>w firsts c^Pi ?

(A)

(B) ^
(A) W

(B) ^

(C) Stlfft

(D) C<^H^ ^

13. The agencies of social control are mainly

(A) Two

(B) Three

(C) Four

(D) Five

bvo i >ii^ifsT<p ftn^^ 'sn^R'Qpf —

(A) ^ 2pm

(B)

(C) m

(D) sms
14. Which of the following is not a basis for classification of family ?

(A) Authority

(B) Structure

(C) Residence

(D) Religion

(C) <n?rgH 

. (D) qtf
15. Which one of the following factor is responsible for the disintegration of joint 

family ?

(A) Industrialization

(B) Globalization

(C) Social legislation

(D) Women franchise

56 l ft^ftiRvs'Sftfa ON *iR<i1c<J<l 'SRJ ''rift ?

types.

I

(A) PMBR

(B) ft^tTR

(C)

(D) C^tStft^

I

[
16. The essential functions of the family are —

(A) Religious function

(B) Recreation of children

(C) Satisfaction of sex need

:

(D) Taking care of elderly people
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(A)

(B)

(C) ^M-7r^ft?i ^?fm

(D) 2iR>c=li^l

19. The form of marriage under which the consent of both the bride and the 
. groom is the primary element is called —

(A) Marriage by Exchange

(B) Marriage by capture

(C) Endogamous marriage

(D) Gandharva vivaah

b c51 ^ *ll3t ISiOIS ^ ^It
^1 —

l *rf<htta5i ^—

(A)

(B) ferm
(C) CRR

(D) (TRt

17. Among Hindus the traditional practice is —

(A) To marry within the Gotra

(B) To marry outside the Gotra

(C) To marry outside the village

(D) None of the above

bH 1 W.s$ ^—

(A) photi 'siwj fete;
(B) cwm fefc>
(C) $\ub <infe fet^

(D) cfet>f5 ^
18. The marriage of one man with several sisters is called —

(A) Polyandry

(B) Anuloma

(C) Sororal Polygyny

(D) Pratiloma

I
[

i

1

(A) Rfe<I fefc

(B) fel3!

(C) 'sksR^

(D) fets;

i

20. Which of the following is an example of Riles of joking relationship ?

(A) The relationship between brother's wife and sister-in-law.

(B) The relationship between father-in-law and daughter-in-law

(C) A special respect is given to the father's sister

. (D) None of the above

S
:;
\
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I ‘Caste in Modem India' C^Nt ?

(A) ^5.

(B) R>1G^

(C) 4^; ^r. §tP<rm

' | p yPtRvs'QpBI C^Hfb ^fw\sj ffe ?

(A) ^ 'Q ^TOr<t

(B) ^ ^

(C) C<JlHG<f> p£*Bl ^P*iM (W?fl

(D) RTI

21. A group of class which are related by traditions of common descent is 
known as —

(A) Moiety

(B) Phratry

(C) Tertiary kin

(D) Patrilineal descent

^ i wi '5tc$
^ —

(A) W'sW

(B)

(C) ^ ^ri%i

(D) f*f^slf§F^

22. The book ‘caste in Modem India' was written by —

(A) H. M. Johnson

(B) Herbert Risley

(C) M. N. Srinivas

(D) G S. Ghurye

:
i

(D) 1%. 4R. ^

23. The movement of people from the poor class to the middle class is an 

example of —

(A) Downward vertical mobility

(B) Upward vertical mobility

(C) Horizontal mobility

(D) None of tine above

^\d i <uR^ ^iR'Q '^rPGTTt —

(A)

(B)

(C) ^R<t> >it>«=ivot

(D)

24. Which one of the following is not associated with the concept of social 
change ?

(A) Social change is universal process

(B) Social change is not

(C) Social change is not personal

(D) Social change is not irregular

i
I
i

I

i

.
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*81 'mm TtfsnfiRs ^ ?

(A) #fen

(B) ^ftsnfe^ *fRh\sw<i ^rr?r

(C) *iRj<qNO"i ^

(D) ^!p?<t> ^R^Rvs

25. Social change means —

(A) Change of political organization

(B) Development of technology

(C) Change of underlying structure

(D) Development of economy

I >li^lRr<l> —

(A) *iR<^H

(B) f^H

(C) <]R*iiR <t>ifeii<i *iR<w

(D) pR5!*!

26. Planned social change is called —

(A) Progress

(B) Evolution

(C) Development

(D) None of these •

^ I *jR<r-Bi'© ^

(A)

(B) R<jvs*1

(C) twi*f

(D) CffifS TO

27. Agricultural Labourers are found in —

(A) Urban society

(B) Rural society

(C) Industrial society

(D) None of the above

i *mi —

(A) TOETO ^rsrRTSf

(B) srr^M ^^iC'Sf

(C) '5T5TTUST

(D) c^HfiSt to ■

28, Jajmani system is a characteristic feature of—

(A) Traditional rural society

(B) Urban society

(C) Semi-urban society

(D) None of the above

:

■

Turn Over
( 16 )( 15 ) 2/115 - 215002/115 -21500

UGB_UG_Question_Sociology_General_Part-I_Examination_2018

Digitized by the Librarian, Central Library, Malda College, Malda on 5th October, 2018, Page -8 of 15.



i 21^11

(A) ^Rr^ snffct 7}^

(B)

(C)

(D)

29. The full, form of SHG is —

(A) Self-help group

(B) Social help group

(C) Both of the above

(D) None of the above 

i shg-43 -sjc<rr *Tf5j —

(A) C^tlft

(B) c^rtft

(C) (A) 'Q (B)

(D) C^PTiBt ^

I “Caste and Race in India'5 C<F ?

(A) v£TSl.

(B) 4.

(C) fe <OT.

(D) ^

31. According to Louis Wirtli urbanism is —

(A) a way of life

(B) a way to develop urban life

(C) a way to develop secondary relations

(D) None of the above

i

• ^ I PolvSl

(A)

(B)

(C) C*fM

(D)

32. • Slum is one of the major problems of—

(A) Rural Society

(B) Urban Society

(C) Both of the above

(D) None of the above

30. Who wrote the book “Caste and Race in India55 ?

(A) M. N. Srinivas

(B) A. R. Desai

(C) G S. Ghurye

(D) None of the above
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i

I TRfCSm gf^ 7r5TOj?

(A) Sftffa

(B) 'm®

(C) (A) 'Q (B)

(D)

33. Liberalization is associated with —

(A) Globalization

(B) Privatization

(C) Both of the above

(D) None of the above

'©'0 I tffert?! ?

(A) felftR

(B)

(C) (A) 'Q (B) 5v»^

(D) C^tt/Ttf5^ ^

34. Push and Pull Factors are connected with —

(A) Urbanization

(B) Industrialization

(C) Sanskritization

(D) None of the above

(A) ^^mrc.

(B)

(C)

(D)

35. IRDP is a —

(A) Riu*al Development Programme

(B) Urban Development Programme

(C) Both the above

(D) None of the above

vD<£ I IRDP —

(A) §n%

(B) 9f®Wl

(C) (A) 'Q (B)

(D) ^

36. Migration is found in —

(A) Urban Society

(B) Rural Society

(C) Both of the above

(D) None of the above

I
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^ I <(^ft ^ ?

(A)

(B) SjT^t^f

(C) (A) 'Q (B) vS\»*^

(D)

37. Division of labour is an essential feature of —

(A) Industrial society

(B) Urban society

(C) Rural society

(D) None of the above

vStr | (/$£{ "^TBl ?

(A) ^iosr

(B) SftfH

(C)

(D) *T?f

39. Lock-out is associated with —

(A) Factory

(B) Agriculture

(C) Both of the above

(D) None of the above

vOc* I ?
'OH | ?

I Si

(A) f*f^

(B)

(C) SltfM

(D) C<Plc^lfu^ ^

38. Skilled Labourers are found in —

(A) Urban Society .

(B) Rural Society

(C) Industrial Society

(D) None of the above

(A)
■v

(B)

(C) (A) <3 (B)

(D) ^

40. Example of infoimal organization is —

(A) University

(B) Family

!

(C) Bureaucracy

(D) None of the above
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80 i

(A)

(B) <*

(C) ^nw53

(D) C^HfD^ ^

T^T b.

\
'•?, -l

V *

?

v
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( 2 )

6. What is kinship ? Discuss in brief the types of kinship 
with suitable examples.P-1 (1+1 +1 )G/18(NSNP) 

2018
SOCIOLOGY (General)

Paper Code : l-B 

[New Syllabus : New Pattern]

5+10=15

Section - III

7. What do you mean by Jajmani System ? Discuss the 
important features of Jajmani System in India.

8. Define urban community. What are the characteristics 
of Urban Community ?

9. Define Industrial Sociology. Discuss its subject matter.
5+10=15

5+10=15

Time : Three Hours

The figures in the margin indicate full marks.

Group - A

Answer any five questions from the following
taking at least one from each section. 15x5=75

Section - I

1 Define Sociology. Discuss the subject matter of
5+10=15

2. Discuss the relationship between Sociology and 
Social Anthropology.

3. Define Society. Discuss different types of Society with 
suitable examples.

Full Marks: 100
5+10=15

Group - B

Answer any five questions from the following
taking at least one from each section. 5x5=25

‘ Sociology.
Section - I

10. Identify the features of Community.

11. What is an Institution ?

5+10=15

l
5+10—15

12. Differentiate between Folkways and mores.

Section - IISection - II

4. What is family ? Discuss the different types of family 
with suitable examples.

•5. What is marriage ? Discuss the rules of marriage with 

suitable examples.

13. What is Social Mobility?

14. What is the technological factor of social change ?

15. What is social progress?

5+10=15

5+10=15
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( 4 )( 3 ) .
a i >r$jGiR^ f^GR fesjR^t

Wl

^ I ^t#?Tot <mos #t (RRi ? »t^G<ilGf
*rgr ^Rftwtwi >i^c^i ^giIm] ^ i

Section - III
(t+^o=^(t

16. What are the features of Rural Society ?

17. What are the problems of Urbanisation ?

18. What is Globalisation ?
<H-bo=b£

^t - o

^ l W^ifft WItft

V | ^sR frt'Q |

<t+)>o=^(t

>1^C3i ^RcTt^Tt W I

srf^ft ^i\*l C<R^ "«JJHvo>l <R<J 
Gift 2R*R fft'Q |

<t+^o=^(t

1% ?

wt - * I-
<mo=b£ J

> I ttf'G I ^^4
*+*<>=*$ ^

Gift *fjbfD SfcR vSyR RM3 |
$.1 »£R<

^UGlMt I

« I ^RRSR R'G | ft*tf3<R ^GiR^t ^RRS^
^RcllMf ^ I

wt - *
8 I Tf^GTR^t ftfej

>l#4csh ^JRcTtMl ^R!

6x6=^
1

Wt - *
<H-^o=>£

b o 1 'SR^peptlGR (BR^> ^ i

1 t% ? *

b * I GTl^RR 'G GTi^lfw W,*tt *|H% I

(t

a

JRGR
<2-+io=^tf

(t .
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( 5 )

- *

b'O I >lt>elV2>i ft ?

>> 81 ft ?

I TTfflfsRS Sfflft "^ffllvo ft c<ih ?

4

a

a

W*| - vO

^ i sn^to ft ?..

wm^ ft ?
^>v | fts^H ft ?

4

<*

4
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